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Lewmon 3132 - Addinon

Lewson 33,44 - Decompsing number 1o unit and tens {addition)
Lesann 15 - Subbmction Lo
Lesson 3 Estimate the result of addision and subtraction 1
Lesion 573K ¢ Adding by renmming

Lesson 39,40 : Adding more than two numbscrs --
Sl evaliantionn i s b

Lessen 4142 © Polygons x
Lesson 43,44 - Amange the shape o form picture 37
Lewson 4546 | Mexsureof the length(m,om ) 4s

son 47 © Messuring lengths 39
Lesson 48,45 - Sobds ( Throe demenssons ) 152
Lesson %0 - Forming 3 dimension solid 1 64)

St evalmnion on o | B4

Lesson 51,47 - Estimase the weight of thisss 169
Lesson 3,54 Folkow : emtimate the weight of turgs 17
Lesson 55,56 - Time 77
Lesson 57.5% - Half on an hoar 12
Lesson 59,60 1 Quarter of an howr | s
Self evahmoon on umt 15
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= Read and write multipdies of 10 tu 90 in letten
- + Lse the place valet io compare fne - and thres - dipd Dol
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(;5 5« =10 @:ﬁ-} =12

[;1 8 =18 @ﬂq a 20

(;l 8« =16 t[.} T & =14
.mn—m;

O M “l'hlllﬁi‘lllpﬂn.tlunﬂi T ) poms o o

ﬂm.ﬂnmﬂnmﬂ?
‘_—- Ny wf pran = T+ = |2 pens
The remuind =

G Ama +15 ) boska . be pot (9 ) bouks in & hag

Hew many book reemsind *
‘i_ s of books = 94— = 15 bools
The remaind = - -

lfa ﬁ[ﬂﬂ'ﬂhlﬂl“ﬁmﬂff TR

mﬂ-u-mﬂ““nimm wemt vl
nwalk . nn“u-n,mﬂ!

‘r“‘u Namber of tanriat = 17 =l maiine
The remnind =
Wik wal . com

iy = P ——

Baktar aMv

By p Ba
} o i T e = ‘!:"
10 = &= 1
l\.-'.' 11-. = '1'9-
(3) B+ __ =12
) M+ =V

| .-lo Fpre) e FrERBITL] P

£

-1z €

P i

1

'.’I;o Find the missing numies

6 i
ih?m- 6 P ¢
&hﬂm 13'::l:'| ?

-

e Ne- =T

®

o 11
ﬁ_}'m- a1
-5.}13- =P

Pyaiai Thone

i

@ °

L.

TR

5 B

ks H

ke
<

e B
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P Bl i o Lowon (52303

Find the missing number 1
1'm|wu-ﬂmmﬂnﬂm o
The method of W ™ 5 0N T 4y

¥ uw-m‘]-hﬂrl[:m -
number o ohes . i Hl'l' N $Ex o+ =13 ll':!_:r"lﬂd-ﬁ:‘iﬂ
mu w-“.‘“ (] MES ST -
Hﬁ#*“-hq g0 . E o hatin 4 Fingers

@ 7+..=M () 12+ . =17
G_J 3+ =10 (:-L:l 6+ =16

e Find the missing number :
.5_, o LIS

.ﬂ.Ex %13—....:5 — 13-4=9
Y o= salatuwon 4 Fingrers

0l @) 9-.-=5 @) n-. =8
ﬁ_’} | - JC— er |::_L_) 5= =1

......
......

SR

e Use the Chart to find the following :

gt ﬂ ‘91 “ '95 ?ﬁ 91 9‘59‘3 1 ||I_?||;35 P15 114115 116 |L:.11-| AL

"32 83 B4 BS §6 57 B8 O 100104, 105 106, 107 108109

1'1 'H 7475 | 76| 1"_:___1_5_ 79 & ) 21+410= SN 92 L 9] 94195 | 8 R 99

62 61 64 65 66 67 6 69 7 3 h:‘ Kt RA KT AR s,f:

\!iﬁﬂ:ﬂgss.ﬁﬂ'&ﬁEq | f 173 74075 TH TT TR A

4] 42 43 44 45 46 A7 45 4 ¢ @ 32+20=.... |o ACRCRLAT AT

-ann!:sﬂ,yc:ﬂ 26137 38 39 - A 41141 4L 45 46 AT AR D
31 2 23 24 2526027 3 290 0| @66+31=_. pLpLg e n e

34 1% J&2 A9

IE 12 B 14N Na6 17 18 19 2
2 ket T shE| 718 5

AETEET 19 2
]

24 |25 & . T2 ]




i : //x'.m.gm.m.u (Exe

reise on lesson 15, 16

,' (5) Salma catched 18 ¢f® she cooked 10 of them , oFfmlhtﬁ-‘t.ﬂm}-
How many «f§® remained 7
' e (W) u+0s= o0 40
Shibs  Numberof €j8® =18-10=8 - _ o 10
B * tiajsinis oinin e
@mM'H‘“H#'H“-Mm’ ] & 10
remained 7 (&) 13+6= _ (0
. Il I . _**H__-_ w g 3 * ; . ] \ 39 4D
‘“"-' ﬂ..' (W) 13-8= o 5
L] L1
@mmu .hﬂl .mh'“; e Answer the tollowing
mm ‘ ﬂm' - Ava has 4 rular har sisler has (he sama numsan ol

ruiliar , How many ralars oo ey Bave 7
| [ m mul. -‘h---—-__-l ‘i‘lilii ‘i‘.ilili

(D witn Rasnida 13 @, she gave her tather 3 @, | .
m“ . “#m 5 saduptbiin Muinber ol i |

- o = b |
h Wﬂ.‘ e ™ s Wi . o Answer tha odlowing

Mravean has 14 blgda | he gave © Dlrds o his B

O iy Sete peivalivesdh vty Doy 7
& Sl

& Number of memaining blinds

Py T - U hegme




e e ﬂf.“llﬂh"""
1 T
o 02,63 B4 98 08 GT 98T O
mooz w3 eal e ee a7 0a W O
™ H:ﬂ;ﬂ;ﬂ;ﬂ.|ﬂ.ﬂj2‘"
" ““'“i‘l“'ﬂi“"}“
$1 B2 53 /08 56 ST 50 88 00
a4z “aﬂlﬂ.“;ﬂ.!“';ﬁ'aﬂ.
" n,ﬂ;n.;:.:n.g.::::
Rilmisialnigi e
!lai'llrlinl

@mmm/’.ﬂnmmm,

What is the total number of

5%-. Numberof = 84821689

D) A:ubwuhttllhmh.ih_lwmlllm
What is the total number of books ?

6* The total numberof book = + =
(2 Hova has (7) QP . her toncher gave (9) Tt her
‘What is the number of {7

am wmberol @ =+ = @

(@) A class has { 17) girls , (9] girls of them are absent ,
What is the number of present girls 7

- e i Numberofgis= - = gnis
@ﬂrnﬂm has mpmm-m ﬁu

I

+* =

( General Exercise )

o Answer the following

@) 2+2=. () 5+5=
@ 4 ® (D I (® 7

ﬂ) B+8=

+ .
- 4 *._';_ +_I L
e Using the Charl to find :

- m | nz T e 120
G-_} 25 +1W0=_.. 101 [ 102 108 109 10
o a2 on | 69 100
B | B2 g8 89 90
|72 78 7% BO
— &1 | 62 - 68 69 7O
®17-10= . o oo | ==

41 |42 {47 4B 42 50
;32 33| 38 39 40
21 | |25 | Z8 20 30
" |12 | il n 20

8 % W

e Complete using counting descending :

(@) 6+6=. * Start with
G_J?+5= * Count up
..... * We get
H-8=... * Start by
G * Count up to
@12-5=.. * We get

Primary Two - first 1erm




+i=
+ =

https: //wwm__,km\al ACOR 1=

G_} T+9= + + =
.I.I'nﬂuhﬂndlﬂﬁﬂlﬂl‘lﬂi

()8+7= ﬁm n+3-1ﬂ+ -

(W) 14-6= 5% u-zl--m-. a

o A class haus ( 17 ) pupils . ( 9) of them are girks,
Find the number of boys

5 Bl sy NMumber ol boys = ... = .. = .. by
i . My fathor bought some pens for LE 19, {*ﬁh-_mn
i he pay LLE 7, What Hﬂ' mlllﬂpliﬂf : . 3
| Solution Thesmount= - = ponnds

o By asking the papils about the favorite day in the week :
Saturduy 3 pupils , Sunday 7 puplls , Manday 5 pupils ,

Tuesday 6 pupils 'l .
" |
() Complete by colouring the bars E : L
%, )
(%) The favourite day is s : al =
il .
- ﬂ-
cwarie (@

\

€

- Find tha missing numbar

rFLJ Sedbat has (B ) ﬂ hie gl some * . now he hua {13),

Whinmd s thie s bar ol ﬂ ihiat he got 7

S

g

mﬂmm 8+ r -=13
mmﬂm B+ 65 =13
ﬂm Number of =5

ﬁ_u) Mokhtar put { 3 i* i i box , he found the number of
become ( 110 How many m WaE in the box 7
LS
o o o of e
3+ 8 =1
ﬁ # # # Humhﬂ'rh = A
{f. 4+ =12 CEJ T + =14
@ 8+...=15 @ 5+ .=t
[ﬁ 9+ =13 (‘D 6 + =15
Primary Two - first lerm _ 53
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T FILERALN 11

10] 102 1103

TR _ﬂ £

o Using the bonds of 10 to find :

1041051108107 108 107
9 9*_231,_?:!4_‘-"-"* 96 {07 193,19

:5____"1 2% | 1:. 2‘4‘
EHEM |4 i
£

TT116 117 LI8I1Y

86 87 g8 89

hufﬂ'

!-'Iﬂr!
=

-SRI
R T R R
w-om Yo w-(Y=10-
@ 6-8=— Qs o[- -v
@ "-5=— s ﬂ-3=_.-._ -
@ ®-0=— Qe 13:]=._=

- 1 T N EERTE RO .

"% LT 981719 W

Solving problems on addition and subtraction

@

@mwm:
(3) Asm

an has ( 6 ) flowers and she get another | 7 } flowers ,
How many flowers with Asmaa 7

é S thon

Adding to up method
Adding by doublo
Adding by bonds of 10

{ Using one of the following mothod )
E+7T=13
E+7=6+6+1=12+1=13
E+7=6+4+3=1043=13

f:?-u_j Mokhtar has & __& ina bottle and & ﬁ in another botile

How many ﬁ which Mokhtar has 7
6 solution Number of _ﬁ + = _&

(5) Rady saw 7 <z on the table and 3 4. under it
How many . are there 7

6 soluibn . Number of "ﬁﬁ = + = “S:ﬂ‘
(@) Maryam found 7 gy and 4 G

How many - are there 7
5 solution:.  Number of % = 4 = %

Primary Two - first lerm
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b |

From the shapes complete the picture graph - o From the bar graph complete ; -
ﬂ ﬂ !'. O'l U.l U (31 The best frui is
|tk
ﬂ_‘} The fruin than bess prefer is
C_J Number of pupils whose prefer orange
of RRd MR hrr:jr 5 H.slul'-l- Uennge Mango ‘ﬁtra:I:n
— _
."'l 9 Complete the table then choose : ‘l
9 From the bar graph complete : - A
| f wow s [T
@ The greatest number is &l ‘. |
G_}Thn sum nfhund P8 i i ﬁ i?. . '} o |
- + - 3 1 = == t ||
The difference between number { ﬁ
@ o i - (-5) The numhur.q 3 A5 : |
R o W
. 3
i >,= < )The number ﬁ
. G_}Tlm number 'J{ .
e From the shapes complete with the suitable sing | =, =.< ) :|
“ From the picture graph complete the bar graph T:l
Oran

b | le Number  Bar graphical Ihe picture graph
i 1 q'l_ ——— - = —
4 =3l |

Cirabs = Number o
0O 2 4 6 8 10012 141518 P

@ Number of mmm'ﬁm@ Nuniber of pupils who prefer Manc

(@) Yomverof pepitswhoeteragie (. )Numberof poplliwho peterOrs e I
://www.kodwal.com
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ﬂ Ulilingg the doubsle to find (e Talhowing -
By |
i 9089 ...

(L 1T~ ——

| U'Inn the double to find the follawing !

qh.‘rﬂ-rﬂl . * - * e W

& sdution
GJ B+0= ___ + ..

| G} B0 e 0 e A i B8 ey stsires B e

| @nh e

3+6m= 3+H+E-E+2Iﬂ

$1m ... +1=

s et W i

Sadurtiom

Number ol puplls = . # e B e puplls,

m Ahmed bought 8 red pens and § green pens, What is
the number of pans?

‘Hﬂtﬁw
Numberof pens =8 +9= + *+1= Pens
ht I, -1 . on ek series

‘__ VIIAR] T

|Ir|IlIlIlll|'|rl-ll|1||.' o WidiE

Priad dim i i e s ming el

B
i!1n _,.m-h

6 LIEY i 1” + ‘I' -~ 11'

r-_}"‘lﬂ: I:‘h_._]{"ﬁ
(i) B+3= ()7 +4

l; I Ty wirvzh b iy ey T Gl | §, (O EITs

fiya+0

.f'ufnu.

o choose nnothes G Progrns - [
Heow many programs did he use 7

-~
e [TRETTT] * gl by 13 el count LT i
Number of progrivms = '

S |

ﬁiﬁ:_lr 12 -7 =

[* Siart by sy
¢ Eauint un 1o 12

-““mm"“"""”#mnﬂ puplls In the class? 5
Salution 12- 7=5

ﬁjit-ﬁz
()18-9=

(i)15-8=
(10-8= .

* 8inrt from 3 count up lo T

ﬁ'ﬂﬂhllﬂm Theremainder= - .=

Pririary Two =Tiest ke

* Biamn iy pideals il

3 636 s Wod'E

Find the result sing coumiing e sl 1o big

I* The resull will be &

()13'42
(D1 -5=

@elm“mw.hﬂﬂﬂm,wﬂwwWMM? |

apples.
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- MBB NN o YD

C w0 DG B (0.0
C ot DD C 3.0

+’ - *; 4
& © W -

. mhﬂHhﬂTpﬂ-lﬂdmlﬂHhﬂhnm
number of pens , How many pans do they have ?

‘*“ Number of pens = + = pens.

Bakkar series

Unlisg doubibe o fing the adm ae i 8k

(B) 2«0= } = 1=
b""" 2ad=s 2 4 & pyE A #1=0
(W) A+b= ' v 1= v =
{ ) n+fl= i L= B =
f",u R i 1 - i
0 Frind thas issull of 1 fallowing
B i 1A 14
[ u L] i) i " i
1 | A L1 14
ol =l 3 -

What | pass the road my sister hold my hand |

How many fingers in our hands 7 !

L e
fisih
a‘qﬂmlﬂn -~
MNumber of inges =5 + 5 = fingers

o A tamily has 2 boys and 2 girls. How many children in the tamily?

5 solunon Mumber of children = 4

Primary Twe - first lerm
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e

| Nadeen | == ] — =

Josef  Omar Kenzy

.Frm&muﬁa:mmplmﬂ'mbmg:ph

Jab | Brother |Siater| VAT
Namber| + 3

=t
i

Pty Tes _frs o




| oot | S S S o

Lnﬂﬂhﬂllﬂlhﬂfhnunﬂﬂlw: { | .
neeny | fou2 S

i | o Lo Sl S o v | 29 &
Wedwhty | £ £9 £

restsy | o2 A A —
| Thursday #gﬂﬂ H H ﬂg H

| o o A
e R R ||t et et &

Find the number of crab in each day then represent it by a bar :

!L' ﬁ Crab R ' Crab |
._."II|1|I|I_ —_ -
L]

i
161
* The preceding figure I#pictlm:l e The number in Monday = 12 |.: |
. Hmuburnf crab in Wednesduy = R H j e The number in Tuesday = 8
o The number in Wednesday =4 + 1 =5

T The solution : The number: 2+ 2 <1 =8

.@waufmbmww “ H R H

The solution : Thnmhr 1*1"12 el

Numbr ofcab i Fridy = +ﬂ .R f

tps /WWW . kO ‘nLEi__._@Qmpr : t

o The number in Thursday = 16

e The number in Fnday = 10+ 1= 1]




'°lr rom the p-r.tura-: p-:ph notice :md n-rnplclr:

jeseusss - :ci-

#i Flrser * Flower J

B . :zjh (_}‘Hmbcrtfﬂmm:ihn-dm* ‘ -*-‘
Soumber of - g

&Hﬂud’.-ﬁud‘. (>.=,~

‘l-nﬁa-w*ﬁemm

@ Number of fowers 3t Sunday *- .‘ *. .‘

Har i ;-"-,.,_- -
* From the pictare graph | mll i
i draw the bar graph : 1I1|:II = ]
W —_ —
¥
el I—
>
4
L
~ : > 3
=y :; ¢ - g




W __Hepresenting Liaia _ges))

o The first graph show kind of prefer food for 2 class pupils e

represented the first graph in o second graph then anwwer ‘mr

?1 Flrst figure
6

S

4

3

2 j

1

0

Cheese Beans Greenburger

koo Second figure

Egg
Greenburger
Beans

Cheese |

r 3
0 1 2 3 4 - ] T

From the previous graph choose the switnble mark | >, =, <)
(&) No. Pupils who prefer ege () No. Pupils who prefir cheese

No. Pupmls who prefer cheese (::] No. Pupils who prefer greenburger

@ No, Pupils who prefer hﬁ.’lm@ No, Pupils who prefer egg

Primary Two - first term {Maths Tl 11 -‘ B




\ it By asking some puplls about favourite Trulls
hadib and esant the following graph by painting:
repr

%11l

20]
18

16}
s P

1 LIl
H

.=-. © =

= 1 o

= i | Side measure| 49

= =2 0,2.4,6,
8| o 8,10, 12, 2
5| o | 14..16< 6
4] i 18§, 20 4
31 | v
sl - 2
= 0

£ fvourie

fruil Apple Orange Banana Grapes Strawbery

n
&

KLy |

L=

From the previous graph'. Answer the following |

@ Number of pupils who prefer apple 7

Mumber of Pupils=
@ What'is the least prefered fruit and how many pupils prefer it 2
Name of fruit= ... . Mo, Pupils who prefer i

@ How many pupils who prefer orange and who prefer strawberey
Number of Pupils =

@ What'is the difference between No. Pupils who prefer grapes and
Number. Pupils who prefer banana ?
Number of People = ...

Primary Two - first terim [M.umln-;:‘.



W kod om
ﬁ V&.? tlhq:rfr*.ﬁrﬂ ing Lata P}]]
T As tolling two dice and obsarving v Riimties a0
- # | he upper face , 1ha resull was &S fallowing

When axk 200 studant about thelr favouita colour e 00 99 wa éo @O

and represent it by tha fallowing graph | -

Sk bl plakahds

D

00 ®¢ 99 w w €%

Tl s

% o 0% ¢ eﬁ

The sam

-
H.q'lt‘fuﬂl the frequency Inlle table and complete the h' li’h

Totul :' ]_ | | TIE | y [ 1o} |
: ’ e | ik J, L0 b
Mol l : 'I | i |
throwing | | | = | | I |
T2
1 l
| |

rH

1 |

P ol thres iong

E=EE >
| i ! l'._ﬂutum
2 3 4 5 & T 3 % WM M 112

:
S ._. ~E A :\u?""
i‘lﬁ iicrence betwezs Nomber of papils who peefes 1o ~- [l
T |

O =k K G B WM O

'-'[' . - !-' _|___--____ _,-1 Ther bowwst Satad | v o F taee v g deed mem e ) B - -

peadead ie tmdoe et A . .
bt 13 1 _.r_ i . SOLLE Viee ighet totad { vom of oo bepyrat snmber | = * - I

e - 1 . T E —_—
AT K O T = VL 1




o Circle the red shapes :

HE 90 AhAA
EEEE &9 AL

[E'ﬂn&htﬂuq:hﬂ_g--ndur:
G) 19 - =4 {-j g - - 1
@) - 30 = %) (D) m- -
€) Compiete in the same patters -
G) =, =, .
G w20, %,

@) Find the result of the following :

90

1.

\ { [ 1 ( [

0| [ = 76 s H
-60 | -au.|-m =15 | | =30 | |+33
|_—-! I___-I' I__r o

@) write the name o the following




General aims : student should be able to :

= Participate in maths calendar activities .
+ Collect and interprel dats .
* Createa bar graph like : * Class birthday
* Favourite dav of the week.
* About siblings .
Interpret data in a bar graph.

Use lcons (>, =, <) to express comparisons .

Solve assembly and disassembly problems around bar graph data .

Collect data about the numbers on the sides of the dice in six side .

» Create a bar graph using data from a diagram .




W_Representing Dats _ge)))

The teacher count the number of pupils who preferring activities .
and repreventing the data kn the follnwing graph :

Lo TN el

101 —

gumuhmmq-ﬂ

S— . Lo
Acting Druwing  Music  Singing

From the previous graph. Answer the following
@‘h‘n. Pupils who prefer the singmg G Mo, Pupils who prefer the acting

How many pupils who prefer singing and who prefer drawing?
MNumber of Pupils = e S - :
@ What is difference between Mo, Pupils who prefer acting and
Number of pupils who prefer music 7

The QUTERENCE = e = coremeees = i

@-Huw many pupils who prefer drawing and who prefer music?
Number of Pupils = ........ S ST e
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] Withou school vin 4 days , represent this data 1: nﬂ;:in: |H::|p-h Thien compiete :
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(@) Chioose the sultable mark (>, =, <)
Number of pupils who prefer Thiwrsday QNum‘m of pupils who prefer Friday

The teacher ask whit do you do on 4 o'clock in the evening and dfl'ﬂil
represent this data by the bar graph : complete the 1able . boak
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y o IR By asking same puplls aboul the favaurite days of the
F m woek and representing it by bar graph

Sunday 11 pupil . ‘Monday 13 pupil . Tuesday 5 puptl , Wodnesday . puml
Thursday 14 pupil, Friday 15 popll . Satimday 13 pupil
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C olour the bar graph then complete

@ The favourite day for students m the class is

@ Number of stidents who prefer Monday

@ Chioose the suitable mark ( >, =, <)
Number of pupils who prefer Sanrday D Number of pupile who preber Sy
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From the graph choose the suitable mark (>, =.<]:

@ No. Pupils who haven’t hmlhm@ No. Popils who have only brothers

B) No. Pupils who have anly sisters (L) No. Pupils who have only brothers

No, Pupils whe have only hmllms.?uu. Pupils who have bros & sisiers
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#) Answer the following : 3

[ | 13 | A4 a0 77 60
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Genral revision

Bakkar revision

0 Draw ﬂuu—cnrdlng to the numhur : .:1
@ Using the bonds of |1 to complete : -:]
{/_ JI = ,.!{r— I : :.
(10) (= )<,
(3 ) 2=
= 0= __+ L)

6 Complete the missing numbers on the number line :
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B Complete : a “‘H
The numhl:':;’ s The !'ll.ill'lht.'l:/ 59 1‘
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0 Complete : .] -i
How many balloons do they have ? ﬁ

Number ol balloonu = . + .

Hamza has 3 balloons ,Asman has | balloons .
Bakhinr serions in math otk BN T
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